_Chemistry 10th Lahore Paper-11

Board 2018 Group-I

Time: 15 Min | OBJECTIVE Marks : 12

(Group-I)

Note: Four possible answers A, B, C and.D to each

question are given. The choice which you
think is correct, fill that circle in front of that
question with Marker or Pen ink. Cutting or
filling two or more circles will result in zero

mark in that questions.

1-1.

Night-blindness Is because of deficiency of:
(A)  Vitamin A (B) Vitamin E

(C)  Vitamin C (D)  Vitamin D
Specific heat capacity of water is:

(A) 42K 17K (B 42K Jg ' K™

(C)  44KJg' KT (D) 44KJg'K "

- Which one is also called olefins:
(A) Alkanes (B) Aikenes

(C) Alkynes (D)  Alcohols
A disease that causes bone and tooth
damage Is: '

(A) Fluorosis (B) Cholera
(C) Jaundice (D) Hepatitis
The colour of hydrogen iodide is:

(A) Orange  °~ (B) Purple

(C) Red (D)  Colourless
Depending upon temperature variation,
atmosphere is divided into how many regions:
(A) One (B) Two

(C) Three (D)  Four

if Qc < Kc, reaction proceeds:

(A) Forward (B)  Reverse

(C)  Equilibrium (D) Both side




Chemistry 10th Lahore Paper-11

Board 2018 Group-1

Time:1.45 Hrs| SUBJECTIVE |Marks : 48

(Group-I)

PART-I |
Write short answers to any FIVE (%) ﬂ'
questions: - 10

What is meant by active mass? Also write its j

unit.

(viii)

~ What is meant by reversible reactions?

Write down chemical equilibrium state.
Define law of mass action.. |
Write two important properties of salts.

~ Write two uses of sulphuric acid.
~ Stats Arrhenius concept of acids and bases.

Define adduct.

‘3. Write short answers to any Five (5) q_uéStions: 10

Define carbonization. .

Write the name of four different types of coal.
Define aicoholic group with one example.

What is the difference between alkenes and
'alkyhes? : | -
Define process of hydrogenation with an
example. _

What is-the difference between oil and ghee?
Write the basic unit of protein, give one -

- example.

Write the name of two diseases caused by
deficiency of vitamin A. '

~Write short answers to any FIVE (5)

questions.:. _ 10
Name the major constituents of troposphere.
Write four natural systems of our earth (only
names).



ul?"lf‘st ) (L uﬂ )f,Uu (L}:UJ’M)/" Ju
w15 J)&ﬁ’/" 12K
BT C q -ﬂ-- m., |
‘1'&@0@| 5 ®@® O 0 9 @ ® OO
2 @B®COC | || s @BOOO 10888 0
3@.‘»@@@_ﬂ 7%.(@%' 1n a8 00,
® 8OO0 8 0 ®I_ 12 00D

-Gz u.!ggﬂ:.-fﬂfr‘_;‘gfur Ve Sed s sl ic Lo e Bl IAN IS

|
|4 ‘
S L f.r".....-wx;,giuubﬂ:.d..)d.l.«éJir;{Qh’dL?-u'éCL:lurff BAZWRMp L vy dagi

12
AT
ey
F

NiaSit),

L) _'F
SRV

~=200.6

.
:
A re

o ui.:
n‘b
¥

44 e K

(1)

(i

i

(D)

i1

([

121

(13

(I

(1)

(M

(D

f ]
pr il

‘,-{t '

T -
RS

%
i

PRI SR P e e

(C) iLLA L (B i (M)
- bAoA Lo
() A A (A)
e IS Igde Lo
() J¢m) ,_,—::_;: (A)
WA WS I0
() S ) aa- (A)

Ly il ucgiibu_g,r_?;..?t;-ﬁfd{_gff

Lal)

ferhs

366

-
- vy

3
™

44 Klg 'K

(<) Cal’0r, B3y NaC'l 1A)
- rn;..a&faff ;;.;ipﬂf.:ab

(C) S (B suahs N (A
e EME T i,

1CH __,__'.; i i-q." (A
e JHJ'A;"H‘.% Ufc,?': ;""l: V<9

1< 06 (B #3006 (A)
g2 250, < KA

¢ v::,-";..:f.._*' RLY w-':.;-..-'._:‘-..:'- A
PO AR N} VT T N9

(¢ =7 1) ._,"’.u,-‘: (A

L AT S e Judd it
(C) e (B ! (A)
- J{MJJJ 3&

(Cy 120 IRV B 42 KIg KT (A)

‘.lJif

-10
-11

-12




WPt
4523

(Sx2=1M

, - G
o ] e WL .

(5=2=Hh)

o g 5 -3, . i
—-;-;'?_}lr-—‘r'lu-)'{"uu-.'—.

- -
-

[ _.‘“. "' |

e \“fv-g_,.-".'_,.

(552=10)
3 - . i -

- R - &
—-:,-"w—- _"’ JJ#JV-.—“- "Lr. [
= ' - ,;:'.o

¥ - -
’:—r“h:‘—"'_"-lur -

12-9=18

th

(Uduﬂ)f.‘.’du

})(EL’J, 48 Y

(Jil)
:J&Q'ﬁ/ﬂia Ui ‘wlé:cﬂjf

- O i i
‘I'} --_:J—'-r’:a._.'-u- "'::-—v et t”
- I - | L3
(v mim e g T
(i) PPN S
= mihoe o T -
Syt e e el iy H)

AT

~ .t . s
-q‘____—f_(w-p

:46..:4':2/;?{::, F g :5&::_. Jyf

(i) ._.. A 2 e (1

-~:3,'=:J'"' (LGS ok P gt et )

gt alhyies "b” sialkenesy = {iv])

oy -

(vi) --'_-".:*ulf“bt"'":‘“.--i PSS R (F
ﬂ...__'.‘: ':’....::'. o _"-i'*:'* u.u';-,; (v i)
—;ﬁt‘r;___'.;'_.f" Aa_ -'L’_.ﬁ—__u-“:___l;f";_, (v i)
q!”._.uf/’.[._,ﬂ!rmgt.c.df

Lilh -...’:" J..'..t','."_":’.._. 4:':* Vi
fiv) '.....,31'»_‘,_,-_,_,"7—-_, St LAk {iti)
1--_‘:..--‘:.,‘ 1 ..;:":___U':_;;: '-r-"iﬁ-:-—--"-..: u-- (% ¥
ivin ____‘_'::;' :,-';'!.__\'r' R (vi)
-.,j:‘,.‘,... -zt ,°._+_‘_':; ; '-v'_, T ki b

- A
R vl L'ﬁ.—;..:.'.l'r’:.i..:..J!
ALl B i PSS ()

-a.{.:alfi‘:"xg; ) (....:.-)

_ég,.;ayfféw’}unu-nn. ;»‘{.ﬂ' (3

-ﬁ;f.:i;mx s L ALETS ()

_égfa.)!ﬁﬁfyg u)l":.:?‘r'_..:[fl.-r;_of')/‘@ " (i)

EF Il L TP e S ()

r

(Lo A

4 ¥

- |
2ol

3

.4Jfr




Chemistry | 10th Lahore Paper-I1

Board 2018 Group-11

Time: 15 Min | OBJECTIVE | Marks : 12

(Group-II)

Note: Four possible answers A, B, C and D to each

question are given. The choice which you
thint: is correct, fiil that circle in front of that
question with Marker or Pen ink. Cutting or
filling two or more circles will result in zero
mark in that questions.

1-1.

The unit of molar concentration is:

(A) mo! dm-? (B) mol dm-?

(C) mol dm?3 (D) mol dm-3

In the beginning the rate of reverse reaction
IS |

(A) Moderate (B) Negligible

(C) Slow (D)  Very fast '
A reaction between an acid and a base
produces

(A)  Salt and water (B) Salt and gas
(C)  Saltand acid (D) Salt and base

“You want to dry a gas, which one of the

following salt you will use:

(A) COCI (B) CaO

(C) NaCl (D) Naz SiOs
In laboratory urea was prepared by
(A)  Berzelius (B)  Dalton

(C)  Rutherford (D)  Wohler




~Chemistry 10th Lahore -Pa-[_)_é_r-ll_

Board 2018 Group-II-

Time:1.45 Hrs| SUBJECTIVE | Marks : 48

2

(Vii)

(Group-II)

PART-I
Write short answers to any FIVE (5)
questions: 10

Write two properties of irreversible reactions.

How atmospheric gases are used in
manufactur of chemical?

Write chemizal equilibrium constant for given
equation. H.(g)+1,(g)

What is complete reaction? How it is
represented? |

Write two properties of bases.

According to Arrhenius, define acid, with.an_._.
example

Write two properties of salts.

(viii)  Write the two uses of sodium carbonate.'

Write short answers to any Five (5)
questions: 10
Define functional group.

Write classification of coal.
What are aromatic compounds? Give one
example.
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